FlipRobot eanoo

octuro



Learn STEAM through FlipRobot
EiEas A2t STEAM

Develop students’ STEAM skills through FlipRobot challenges
et 2R ARVEFSHREEENPISE STEAM REHEETD

With CASE curriculum at the core, FlipRobot is
developed from robotic Problem-based learning
approach to the complete STEAM skills learning
framework. FlipRobot helps students learn the critical
transferable skills of the 21st century through robotic
learning, and develop their key STEAM capabilities.

Menu
B &

P. 3 Parts List P.4 FlipBrain P.5 Joystick P. 6 Assembly

5 Introduction Assembly Instruction
FlipBrain /M43 EATHEE HERIRE
==
P12. Operating P.14 Variable Control P.16 Cloud-based P.17 Extension Kits
Modes Board Definition Curriculum EEEMH
BRI HYIRINBEE S B PEEEIE P23 B
PGEEIZE PIBE PIEEEIE P20 B PIGEERIZE P22 B



E300 Parts List

FlipEye

N

Top Cover FlipBrain Bottom Cover
Wheel DC Motor Battery Case USB Cable + Ethernet Cables
X2 X2
M2.6 Screw x 2 M2 6 Screw x 2
(Battery Case) (Wheel)
Caster Wheel M2.6 Screw (DC Motor) .
X2 X4 M3 Screw x4 M4 Screw x4 JOyStICk Module




FlipBrain

Port 3
EHEIR 3

----- Button
Buzzer ----- R kR
HRIS28
POrt 1 - e = - - - - Port 2
IR 1 IR 2
DCMotor]l == 1 T =3 QC Motor 2

ERGE 1 BT 2

Servo Motor 1 S.ervo Motor 2

R 1 W , AR 2
Power Lo USB . On/Off
Wil Reset  Port 4 e

BREE EEIR4

00 0AUX

7N N N\ TN\ TN\ Ve ™~
O/=Q (O)==0 O==0
N \_ee / N S N N4



Controller
EARREE

Left Wheel Forward - — — — — -eRight Wheel Forward
EEREERT AR

Left Wheel Backward ¢ - — — -e Right Wheel Backward
EiRitE AmEE

Joystick Module

assembly instruction

N
a. M4 Screw x4
b. Copper Pillar x4

c. Circular Acrylic Plate x4
— d.Nut x4




FlipRobot assembly instruction




3 Screw x4  Nutsx2

Cable Outlet
REEFL
M2.6 Screw (DC Motor) X4 Nut x4 7




FlipRobot assembly instruction

M2.6 Screw x 2

EL P

HhEARh

M2.6 Screw x 2

8



IR sensor ‘s

RJ12 cable
need to be
@ inserted
) intoPort 1
oo
[N =)

& RIN2 &
A Portl

+ Left motor wires
connect to DC motor 1 port

+ Right motor wires

connect to DC motor 2 port
EEEHEER

FBiE 1 VR,
LHEHREER

FOIE 2 HUBEER,

Assembly Completed




FlipRoboteaon

Assembly Tips

10

1

When assembling FlipEye cover with ultrasonic sensor
module, please make sure you hear the snapping sound
on each side of the FlipEye cover, then you know you have
assembled it successfully.

Install Variable Board onto the top cover of FlipBrain, and
ensure the FlipRobot logo on Variable Board is towards the
rear-end of the chassis.

When installing FlipEye onto FlipBrain, please ensure
FlipEye’s pins are connected with FlipBrain pin port
correctly, and you will hear the snapping sound on each
side of the FlipBrain.

When installing infrared sensor module onto the chassis,
please ensure the infrared sensors are facing towards the
front of the chassis.

| BEERESREEXBRRE, R
FHAT, FARSAR—EFEREMNI.

2 Variable Board( &4k ) 551¢ £ FHZEFL
I B FlipBrain 4, MNEINLHEEK
m_Ed .

fHI<ARAE L FlipBrain B, FEEREEMHF
#fLEIEFIE FlipBrain #&,

4] ERILCEEREE ALV AIER A Sk m A
7510, AL RRTEEMEIUEEER




When installing the rear-end caster wheel onto the
chassis, depending on the ground condition, you can
decide whether it is necessary to add the small acrylic pad
between the caster wheel and chassis.

Stick the small acrylic pad on the back of the battery case.
Please ensure all the cables are put through the ladder-
shaped hole at the rear-end of the chassis first before
securing the battery case onto the chassis.

You can either use four standard 1.5V AA batteries or two
14500 3.7V Lithium-ion batteries with two AA battery
placeholders (dummy batteries) to power up FlipRobot.

Lastly, infrared sensor module’s RJ12 cable needs to be
connected with Port 1 on the chassis. Port 1’s position on
FlipBrain is shown on next page.

§ sifeizebhem, BESNAKRERREER,
BITI8NE@mBS TE, LUEERREMA,

6 FREBAMLEDR LEEREER—W
MERABIARL, BETENEER,

7 SEETHA 1. g AA 3SR 2. TR 14500
EEEMMEEAR, ETHE.

8 =k, AISMRIR RI12 #REERHEEE Port] J5RE
EEEE, F1E8R P7 EITHEE




Control Mode

5 Basic Control Modes
Learning CASE Curriculum Topic 1 & Topic 2

Switch on power switch or press reset button to
commence the following process

LED light _ Short music Enter Mode 1
indicates power on (Blue Light) Joystick

flashes 5 times
successful Control Mode

Press the button on the top right position of the top cover
to enter different default firmware modes

o /
Enter Mode 3 Enter Mode 4
D (Green Light) Obstacle (White Light) LED

Avoidance Mode Color Setting Mode

Enter Mode 5

(Purple Light) Line
Tracing Mode




Mode 1

(Blue Light) Joystick
Control Mode

Mode 2

(Yellow Light)
Detection Mode

)

Mode 3

(Green Light) Obstacle
Avoidance Mode

Mode 4

(White Light) LED
Color Setting Mode

Mode 5

(Purple Light) Line
Tracing Mode

1. Left Wheel Forward

2. Left Wheel Backward
5. Right Wheel Forward
6. Right Wheel Backward

3,4, 7,8 buttons can be
self-defined.

Ultrasonic sensor function
definition:

Detection distance scope:
5 ~15cm

Detection angle scope:
0 ~30degree

When in detection mode,
LED will signal red when
object detected.

Ultrasonic sensor self-
driving mode, variable board
defines turning direction and
function duration.

Extension of detection mode,
obstacle avoidance mode can
be used to complete various
challenges.

/

Understand the principle of
chromatic tri-color by using
variable board to adjust RGB
LED light color combinations
and create different color
variations.

R R
G G
B B

In LED Color Setting Mode,
RGB values of LEDs can be
adjusted via variable board.

AN

\Sensor locations

With configurations through
variable board, use infrared
sensors to detect black and
white areas, and achieve line
tracing functions.

Black area: Input is O since no infrared
reflection is detected (light off)

White area: Input is 1 since infrared
reflection is detected (blue light on)

AN

/

13



14

Variable Board function definition:

Mode 3

— ”
=
(Green light) Obstacle D D
Avoidance Mode

Variable Board:

Easy to operate

Simple to use in learning Left
programming logic

1.Turn left or right when sensing first wall
Right 3.Turn left or right when sensing second wall
5.Turn left or right when sensing third wall

7.Left DC Motor speed

A

2.Turning time length when sensing first wall

020
/—‘ WJVLP ’fi:f:

Collaboration

Long

) 4 Turning time length when sensing second wall
time

6.Turning time length when sensing third wall

8.Right DC Motor speed

Creativity

Mode 4
(White light) LED
Color Setting Mode

1. Left LEDRed — . 2.Right LED Red

3. Left LED Green ————— -~ 4 Right LED Green

5.Lleft LED Blue ——— — 6. Right LED Blue
* 7. Not defined 8. Not defined

Compiex
problem

solving



Mode 5

(Purple Light) Line
Tracing Mode

Forward

Left

Stop

10 @ —

s10 (p ———

5. Forward speed ————

7. Not defined

N\

Right

Backward

Example

Adjust the variable
board dials from 1
to 4. Set up different
combinations to create
interesting line tracing
results.

~ 0u @)
a1 (D
_~—— 6. Rotation speed
8 Not defined

FlipRobot
E300

Learn STEAM and 5C skills
through play and experiment



Cloud - based robotic
programming

Our comprehensive FlipCloud solution does not
only provide complete CASE curriculum resources,
but also includes various programming learning
and logic debugging tools. This provides ease and
convenience for teachers to help students develop
design thinking and computational thinking.

FlipCloud C pt  FiipCode  CASE Cumiculum  Support  Login

Rich kn, owledge base




The robot that grows with the curriculum

FlipRobot E300 and all its extension kits are thoughtfully designed to seamlessly —l |
implement the CASE Curriculum in a classroom.

axxo I 3 CGE
EE > D

YOO H

= (0,

Smart Self-Driving Magic Line-Tracing Light Following Insect
Robot Robot Simulation Limbed Robot
STEAM ABILITY 1 TOPIC 1 STEAM ABILITY 1 TOPIC 2 STEAM ABILITY 1 TOPIC 3
6 Units 18 Hours 6 Units 18 Hours 6 Units 18 Hours

Air Piano Musical Little Artist Robot Smart Household
Playing Robot Vacuum Robot
STEAM ABILITY 1 TOPIC 4 STEAM ABILITY 1 TOPIC 5 STEAM ABILITY 1 TOPIC 6
6 Units 18 Hours 6 Units 18 Hours 6 Units 18 Hours WWW.C|Oud.f|ipl’ObOt.C0m

17



Control Mode
BAERRT

5 BELREL,
BETE—HTE_RRIERNS.

Ft%EL Reset EA L TNEF

EART 1
P BREE };kﬂ (=)

BNE® TS (R )BT )

A3 W Ak 4
(#%45 )(BEEAR ) (B¥E )(RGB 7t

EART 5

(%8 )(TRER )



R 1
(18 ) (Rt )

R 2
(#f8)(MEEER)

(B8 )(HERN)

®

\_/

BRI 5
(%48 )(TEEFET)

@)
/;K/

1 FEER{ER]
2 R
5 6E1ER0
6 TR

HEKRREEZ, Al
#E 5 ~15cm, ERIA
FE# 0~30 ELIAAE,

BRIV ARG, SR
BRSRIREALE, ERT
PRI EEE,

/

AN

2 o P T‘%éﬁﬂﬁ@@?ﬁﬁffﬁfﬁ g3
E=p , B :
SRR EATAE @‘ / R,
THREN S EEEE, R R Foemd TEmnaSae
BB ] 1T G G 4B, FHEAEM RGB EUE,
LED, 2HHAFEME B B AIEEESD LED BHEE
ML, B,

AN

ALOMRAREE

MBI AR

By, ECEBEIRAVEEE,

$§U EE}]—Ij]ﬁbc

R - EEAS 0(IRE)

73
HESE - BEAR 1(RER)

AN

/

19



BHIRIREE S

Variable Board
QERIRIE L TF

faxza sl s |

RyEE TR

Left

Short
time

20

= 3

(#R0E )(BFEIE)

18R F—ERl S AE
3. BB BN AE
5. BFE=EiE B AE
7. 7£ (DC Motor) B5%

Right

283 E— SR BN
4. 836 _ ISR RHERE
6. BE|E = Hi R BN
8. A (DC Motor) #5%

Long
time

= 4

(B8 )(RGB 3t

1./£LEDR ——— S~ 2. ALEDR
3./ LEDG 4.5 LEDG
5./ LEDB ———_ _——— 6.5LEDB
7. BEER 8. HEEE



R 5

(%8 )(TEER )

Forward

BERBUR | =
Rght AR, Eieis

Left

ERFIRAERIH
BEARSESTEE
Stop Backward TREIR
oo @) — 204D
10— — 4 (]
SEERE — ——— O.DEEERE
7EEE —— o SFERE

TEmnEE Bl

FlipRobot
E300

EITRgRfE STEAM &)
5C BB/ 11123 R



RER LEAZ RSP A
BRMBUEENIRHET B TR
ENREER  bEUABRASETALE
BORRG  BRMEASRTHS WAL
FREE  HEMEIRERTELBELE NN
B -

FlipCloud

Rich knowledge base

ActionScript

FlipCode

+ = QI

CASE Curriculum




BRE SRR AORESE A o

| ioRobo BB AR E AT - S—BRE ANTERErREeRsnErme - 0 DA aE P

U

SA1 Topicl

SA1 Topic3
KEEME JRKIEAR 23

i
=4 ;

SA1 Topicd SA1 Topic5 SA1 Topic6 .
ERBS T N SBERIEF wwwcloud fliprobot.com

23



FlipRobot
E300

aocturo

www.actura.com



